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i AFI07TH03 H 17H EIDnA 5% 66 k> (BiiA)
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H X £ IH 15. 00| FA % 513 7,695 3,888| 3,327| 2,484
X D e E 12. 00 [ #H%f 100 1, 200 1, 620 1, 480 1,188
F 9 NAEL w5 4. 00| FH%f 141 564| 1,404| 1,329 972
5 A [ 1. 00| FA%F 245 245 1,296 886 540
A M5 2. 00 | FH %} 260 520 1,080 982 756
[N (r— 5. 00| FHxf 963 4,815 2,052 1,723 1,296
T k= K & ) 3. 00| FH%f 41 123 1,944 1,907 1,728
AR PN 2. 00 | FH %} 25 50 2,592 2,117| 1,080
£ A AL 20. 00 | #H 5%} 308 6,160 3,240 2,657 1,728
& @ | 10,00 fEs| 15 1,150 3,024 2,722 540
LA A O 10. 00| AHxf 577 5,770| 2,484 2,008 1,296
P=—1LH A & ] 4. 00| FHxf 814 3,256 1,512 862 648
Tuyal— 5 6. 00 | FH%f 433 2,598 4,212 1, 890
ENIN .00l Fixt| 6] 6] | 0,160
AHER w5 0. 10| #Hxf | 2,600 260 184 121 65
ZDXH E % 0. 20 | FHx} 1, 800 360 72 69 57

LU £ B 0. 20 | FHx} 150 30 70
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VAN i Foagk L 10. 00| AHxf 3 30 3, 780

5 U H & 10. 00| FA % 48 480 4,860| 4,662 4,104

AVavE 7 4 U E | 13.00| fH%} 12 156 2,862 2,727 2,700

T AT E— = B 0. 25| FH%f 292 73 302 272 162

HEBR D & [ 0. 27 | ¥H%} 4, 040 1,094 432 385 324

S X EF I 0.25( fHxt [ 11,284 2, 835 454 345 162

RIHD Y £ IR 0. 25| FHx} 4,104 1,033 378 297 151




